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?&==T KFllUd 3Fll /SPACE FOR ROUGH WORK 



3. g n d t ? R r n & ~ ~ ; 7 i i ; 9 1 + m ~ .  

(3) (i) 7m=6l 

am (ii) l7K.m 
(W T t = 5  (iii) Tern 

(3) & (iv) **: 
( q ) ( T )  (q ) (3 )  

(1) (ii) (iii) (i) (iv) 
(2) (iv) (ii) (i) (iii) 

(3) (iii) (iv) (ii) (i) 
(4) (ii) (iii) (iv) (i) 

XEZll T T W d  5VlT /SPACE FOR ROUGH WORK 

P.T.O. 



7. mw. 
(ST) ~ Y W  (i) W, *, 
(7) M W  (ii) m, m, 
( )  d m  (iii) W, m, * 
(J) M m  (iv) d, m, * 
m*: 

(X)(B) (5)(3) 
(1) (ii) (iii) (i) (iv) 
(2) (iii) (iv) (ii) (i) 
(3) (i) (iv) (i) (ii) 
(4) (i) (ii) (iv) (iii) 

(a) TIU'T~~TY?~ (i) 3~ T&F~ 

(7) z%wm (ii) m w 3  
( )  -q* (iii) m?jGlf%mi7?T4 
(J) afipv?'~ (iv) ~ ~4 
m*: 

(X)(T) (5)(3) 

(1) (i) (i) (iv) (ii) 
(2) (ii) (iv) (i) (iii) 
(3) (iv) (ii) (i) (iii) 
(4) (ii) (iii) (i) (iv) 

d 3PlT  /SPACE FOR ROUGH WORK 



d W /SPACE FOR ROUGH WORK 

P.T.O. 



20. ~ ~ & r n ~ - E i t r r r t i s s r n .  
(3) q a m m 7 l F l q 4 M ; m a m q m 7 m .  
*3*v+mm. 
a*: 
(I) m(W* (2) rn (3) * 
(3) (3) s ( 3 )  338 (4) (3) q (3) m ?F 

21. mrl%mm*dg~;d-: 

(3) wqw?iar**w. 
(q) fi.jrsi;rrM%m M. 
(a) ~ m f G m A d ~ f 6 l .  
a*: 
(I) m a )  (2) w(q)Jrrfor(a)*wh 
(3) (a), (3) m (a) * * (4) m (a) * Wb 

d /SPACE FOR ROUGH WORK 



X F i T d  W /SPACE FOR ROUGH WORK 

P.T.O. 



26. Match the pairs : 

(1) 
(a) A squirrel's home 
@) A residence of nuns' 
(c) A residence for monks 

(11) 
(i) Archives 
(ii) Monastery 
(iii) Dery 

(d) A place where government records are kept (iv) Convent 
Answer options : 

(4 (b) (c) (dl 
(1) (ii) (iv) (iii) (i) 
(2) (iii) (ii) (iv) (i) 
(3) (iii) (iv) (ii) (i) 
(4) (iv) ji) (i) (ii) 

27. (a) Shakespeare says : Do wrong to none. 

@) Tennyson says, "Knowledge comes, but wisdom hgers." 

(c) 0, dear ! come to me like lightening 
Identify the sentence/s punctuated incorrectly. 

(1) Only (a) (2) Only (a) and (c) 
(3) only @) (4) only (4 

28. Which of the following expressions are correct ? 
(a) Turn in one's grave. 
@) Fill one's own grave. 

(c) Have one foot in the grave. 
Answer options : 

(1) (a) and @) only (2) @) and (4 only (3) (a) and (c) only (4) (4, @) and (c) 

29. Choose the word/s with correct spelling/s. 
(a) HARRASS @) EMBARRAS (c) LIEUTENANT 
Answer options : 

(1) (a) only (2) (4 only (3) @) and (c) only (4) (a), @) and (4 

30. (a) The scenery of the countryside is very charming. 

@) He is going to United States. 

(c) . I bought two pairs of shoes. 
Identify the incorrect sentence/s. 

(1) Only (a) and (c) (2) Only @) 
(3) only (c) (4) None of the above - 

TF3lT TX4TiT& Tl'T /SPACE FOR ROUGH WORK 



31. Which of the following sentences islare not correct ? 

(a) That pair of scissors belong to me. 

(b) The furnitures are to be delivered today. 

(c) A pair of shoes were standing in the comer. 
Answer options : 

(1) (a) only (2) (a) and (b) only (3) (a) and ( 4  only (4) (a), @) and (4 

32. Fill in the blank from the given options. 
"The United States highly advanced in science and technology." 

(1) is (2) are (3) were (4) have been 

33. A small table was lying the two almirahs. 
Fill in the blank choosing the correct option from below. 
(1) among (2) between (3) in (4) at 

34. Sonali said, "1 must go home." 
Choose the correct indirect narration of the sentence. 

(a) Sonali said that she had to go home. 

(b) Sonali said that she must go home. 
Answer options : 

(1) Only (a) (2) Only @) (3) Both (4) Neither 

35. Some of the discoveries of modern science are simply ma~e l lous  . 
ldenhfy the correct meaning of the underlined word. 
(1) praiseworthy (2) commendable (3) admirable (4) amazing 

36. Find out the correct sentencels : 
(a) I have lost a ten-rupees note. (b) I have lost a ten-rupee note. 

(c)  I do not like these kinds of games. (d) I do not like this kind of games. 
Answer options : 
(1) Both (a) and (c) (2) Both (b) and (d) (3) Only (b) (4) only ( 4  

37. Complete the sentence choosing the correct alternative. 
If you studied hard you good marks. 
(1) will get (2) wouldget (3) would have got (4) will have got 

38. Which of the following islare correct ? 
(a) Manan is older than Ria. (b) What is the latest score ? 

(c) I gave hun the few books I had. (d) 1 do not like this kind of novels. 
Answer options : 

(1) MY@) (2) All the above 
(3) None of the above (4) Both (a) and (c) 

=FEEW d ;irmr /SPACE FOR ROUGH WORK 

P.T.O. 



39. (a) Neither pride nor prejudice affect him. 

@) Each of these qualities are to be found in him. 

Idenbfy the incorrect sentence/s. 

(1) WY (a) (2) only @) (3) Both (4) Neither 

40. Identdy the correct verb form. 

Has the bell ? 

(1) ring (2) ringed (3) rung (4) rings 

41. Which of the following sentences is/are incorrect ? 

(a) I am feeling more better today. 

@) I am not feeling much weU today. 

(c) I am not feeling very well today. 

Answer options : 

(1) (a) only (2) (a) and @) only (3) @) and (4 only (4) (4, @) and (4 

42. Choose the correct sentence/s 

(a) I feel tired. 

@) I am feeling hungry. 

(c) We are leaving for the continent on Friday. 

Answer options : 

(1) @) O*Y (2) (a) and @) only 

(3) @) and ( 4  only (4) (a), @) and (c) 

43. Which of the following is/are correct ? 

(a) He filled the pot with water. 

@) He informed me of his programme. 

(c) The tree was laden with fruit. 

(d) What sort of man is he ? 

Answer options : 

(1) All the above (2) MY @) 

(3) None of the above (4) Both @) and (dl 

WW& /SPACE FOR ROUGH WORK 

., . . .- 



44. (a) I note in my diary whenever I take extra milk from the dairy. 

(b) I note in my dairy whenever I take extra milk from the dairy. 

Identify the correct sentence. 

(1) o n l ~ ( a )  (2) Only (b) (3) Both (4) Neither 

45. Tell me where you live ? 

SeIect the sentence in which correct word is used for the underlined clause. 

(a) Tell me your living. (b) Tell me your address. 

Answer options : 

(I) Only (a) (2) Only (b) (3) Both (4) Neither 

Read the following passage carefully and answer the questions no. 46 to 50 given below it. 

Indian conversation today is rubbish. It is all about cricket, bollywood and political gossip. 
We need to change that conversation. We need to really take the lead forward to talk about 
Indian values, Indian customs and indigenous development. A nation of 1.3 billion can't be 
doing nothing. There are lots of good people in this country doing lots of good work. They 
don't get any recognition. It is time to change the conversation in this country and young can 
do that and you need to take the lead. 

I get disappointed when the young in India don't demand change. You are the constituency 
who should be demanding change. But you are not demanding change! You put up with the 
way things are. 

So, when this public information infrastructure is built, in may be two or three years at 
the cost of about 1,00,000 crores - education will change completely and lot of education 
institutions don't want to recognize that. We really don't need teachers to deliver content and 
create content. Content is already created by best of the best in the world. It is available on the 
net. Today we need teachers to be mentors. But none of our teachers are trained to be mentors. 

Similarly, the delivery of health services, delivery of government services - all of this is 
going to change drastically in a very short period of time and you need to be the agent of 
change. You need to innovate, you need to think differently, recognizing that information 
brings about openness, accessibility, connectivity, networking, democratization, decentralization 
and as a result, social transformation. 

46. The above extract is addressed to 

Select the correct alternative to complete the sentence. 

(1) Politicians (2) Young graduates 

(3) Teachers and professionals (4) Educationists 

/SPACE FOR ROUGH WORK 

P.T.O. 
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47. You are the constituency who should be demanding change. 

Identify the correct meaning of the underlined. 

(1) potential supporters (2) body of voters 

(3) the district itself (4) area represented by a member of parliament 

48. According to the passage Indian conversation should be about 

(a) Cricket, bollywood and political gossip. 

(b) Indian customs, values and progress. 

(c) Educational institutions and services. 

(d) Competent and dutiful people and their contribution to the nation. 

Choose the correct alternative/s. 

(1) Only (a) and (c) (2) MY (b) and (dl 

(3) only (4 (4) MY (dl 

49. She is talking thoughtful. 
. . ; 

Select the correct antonym to the underlined. 

(1) gossip (2) disappointing (3) rubbish (4) change 

- 

50. (a) Today, students don't need teachers at all. 

(b) The teachers should create content and present it to the students. 

(c) The teacher should just work as an advisor and consultant for the students. 

Identify the correct sentence. 

(1) Only (a) and (b) (2) MY @) and (c) 

(3) only @) (4) only ( 4  

ir;mrm?8 3lTl /SPACE FOR ROUGH WORK 
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63.  e w -  & e ~ V k h ' 3 T l d & & = b h ? f t f 3 ~ d X & ?  

(a) ~ ~ m w - * ~ e d  

(q) s n s r ? ~ 6 7 h T l d F i  

* ~~~~ 
(3) v d & 7 8 d 1 q ~ @ m & .  

*3iit: 

(I) (a), (8) T (3) (2) h a  (a), T (*) 

(3) Ti (4) d* 

T=4T TFI lTd WlT /SPACE FOR ROUGH WORK 

P.T.O. 



(1) T 6.50 FTW (2) T 4.00 FTW (3) T 4.50 B W  (4) T 6.00 88 

71. T l I $ % ~ & 3 3 ' l  2013  TI^^^^? 

(1) fi. I m, 2013 3 31 Wd, 2014 (2) fi. 1 '@ET, 2013 3 31 Wd, 2018 

(3) fi. 31 d, 2013 3 31 d, 2014 (4) fi. 31 d, 2013 3 31 d, 2018 

& V /SPACE FOR ROUGH WORK 



(ST) ~ ~ ~ ~ ~ ~ ~ & ~ 3 0 T ~ ~ ~  

$ h m m = w T m .  

W W d ?  /SPACE FOR ROUGH WORK 

P.T.O. 
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79. ' ~ ~ ' m * ~ ~ ~ ~ q ~ ?  
(1) 8% m (2) FiiS m (3) FiiSf%FFl%5l (4) +d 

so. + l l m  9m'Jh Tqa 3=@l &l. 

(I) *~iamr~.m'flerrrdl . (2) jmrm;it FTZi mv3 
(3) m F[m 4 4  d (4) ***~acd&rnd 

81. ~ ~ l w m :  
rtmr ?I+ 

(37) 3m (1) - 
(a) . ; f ~  (ii) 317wm 
(w @ (iii) ~4 & 
(3) W+I (iv) m, h 
( 5 )  m (4 m 
*sat: 

(37)(T) ( W ) ( 3 )  ($1 
(1) (i) (iv) (iii) (ii) (v) 
(2) (iii) (ii) (i) (v) (iv) 
(3) (iii) (iv) (i) (ii) (v) 
(4) (i) (ii) (iii) (iv) (v) 

& Jrmr /SPACE FOR ROUGH WORK 



/SPACE FOR ROUGH WORK 

P.T.O. 
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93. r n h W a f 8 a r m W l :  

(3 )  +r!m+?W-%d. 

(TI ~ ~ m k 4 r ~ ~ r n * ~  m. 

( 5  XWiTW (In practice) d ?d Vki % STmF41 xm. 
(3) ~ * f t T g l ~ h ~ ~ .  . 

+redd hem/? a?hc&/a ? 

(1) (3) * (7fi) (2) (a),  (q) * (3) 
(3) (T) * ( 5 )  (4) ( 5 )  * ( T )  

TPT& TIT /SPACE FOR ROUGH WORK 

P.T.O. 



96. JTfm Wf%W4FTW 7(8) ? P d q  *?I lTWk N~IITI~?$I 
d , ~ ~ ~ q m o l p l i ~ ~ ~ ~ m m :  

(3) m3lwFmFdd. 

( 1  - ~ m ~ ~ J T d h ~ ~ ~ .  

(ar) @Tk+=m JITf-uFKm m. 
(3)  -mm. **: 
(1) (a), JTlfbl (*I (2) (a, m(3) 

(3) (a), (*I m(3) (4) * 7T-4 

97. Tf&h ?#mi7 N m  * "*" 4 
(1) -*,mkm4* 
(2) ~ ~ + l M ~ , ~ m ~ m  
(3) 3 r m ~ - ~ * * ~ % m + l M ~  

(4) * * 
98. W h f % i ~ F ' d :  

(a) &wm?HmWmfm. 

( 1  ~ % f i ~ ~ ~ m f m .  

* k i ; i ; ~ ~ ~ J T f ~ ~ e ~ m ; ( ~ m m f m .  

(3) *&m&mfm. 

d*: 

(1) (W) (2) (q), G-1 m (*I 
(3) (a), (9) ~+JI mfi) (4) 0) * (z) 

TPlT /SPACE FOR ROUGH WORK 



3==4l W W U d  T J l T  /SPACE FOR ROUGH WORK 
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n. 5. 201. " ~ r n r n ~ " ~ ~ s ~ ~ f r n ?  

(I) Sirl m (2) * * 
(3) X f t m  f* TdI (4) -37 +7 

m r ~ ~ s m " ( 3 ) * f * a r ; r d l " J T d  *. * u r M  sm "(3)" m, 
wTfmfkwdm5. 2 2 0 1 * s m - ~ " @ " ~ * * a T 4 i h l ~ ~  

m d  

TI. 5. 201. @ @ @ 
r n ~ ~ ? R - * r n ~ ~ m ~ ~ ~  

BI BI ~n91n4iwd?m +#em T& @ ~ 3  m m. 
g i i ~ ~ ~ ~ ~ , ~ i ~ r r ? l @ d . r m m i * .  
d ;jrmr /SPACE FOR ROUGH WORK 


